

Manoharbhai Shikshan Prasarak Mandal Armori's

MAHATMA GANDHI ARTS, SCIENCE & LATE
NASARUDDINBHAI PANJWANI COMMERCE COLLEGE
ARMORI.

Dist. Gadchiroli (Maharashtra) 441 208
Affiliated to Gondwana University, Gadchiroli.
Re-accredited by NAAC 'A' with 3.02 CGPA

ANNUAL QUALITY ASSURANCE REPORT

AQAR: 2020-2021

CRITERION – IV INFRASTRUCTURE & LEARNING RESOURCES

METRIC NO: ~ 4.1.2

METRIC NAME: THE INSTITUTION HAS ADEQUATE FACILITIES FOR SPORTS, GAMES (INDOOR, OUTDOOR), GYMNASIUM, AND YOGA CENTER ETC. AND CULTURAL ACTIVITIES.



Web: - mgcollegearmori.ac.in

e-mail: - mgcollege.armori@gmail.com

Phone: - 07137-266558

AQAR: 2020 - 2021: Criteria-IV - Infrastructure & Learning Resources

	Criteria – 4
4.1.2	The Institution has adequate facilities for sports, games (indoor, outdoor), gymnasium, and yoga center etc. and cultural activities.
	Additional Information



INDOOR STADIUM (Outer View)



INDOOR STADIUM(Interior View)



BASKETBALL COURT

OUTDOOR GAME FACILITY





Basketball Kabaddi





Kho-Kho



Volleyball



Hockey



Korfball



Cricket

INDOOR GAMES





Table Tennis





Indoor Badminton





Carom Chess

Gymnasium Facility





Yoga Day Facility









Facilities for Cultural Activity













Bills On Sports Expenditure

Sachdeva Sports				oice No.		Date	d		
Near Chhoti Masjid, Sadar, Nagpur Pipne No. 0712-2524939 Mobile No. 9422101212 GSTIN/UIN: 27AGOPS9906K1ZH State Name: Maharashtra, Code: 27				SS/2019-20/2459 Delivery Note 2550 Supplier's Ref.			13-Feb-2020		
							Other Reference(s)		
E-Mail : info@nitinsachdeva.com Buyer The Principal			Buyer's Order No.			Date	Dated		
Mahatma Gandhi College Arts, Science, & L.N.P. Commerce College, Armori, Distt. Gadchiroli - 441 208 State Name : Maharashtra, Code : 27 Place of Supply : Maharashtra				Despatch Document No. 2236 Despatched through Deepak Transport, Nagpur Bill of Lading/LR-RR No.			Delivery Note Date 24-Aug-2019 Destination Armori Motor Vehicle No.		
61	Description of Goods	HSN/S	SAC	ĢST	Quantity	Rate	per	Amount	
	Anklet	9506		Rate 5 %	24 Nos	75.00	Nos		
3	Knee Cap Basket Ball Nivia Top Grip No. 6	9021 9506		5 %	24 Nos	75.00	Nos	1,800.00	
20	Basket Ball Nivia Top Grip No. 7	9506		12 % 12 %	2 Nos	700.00		1,400.00	
	Volleyball One Piece Moulded NIVIA Hand Ball Synthetic Waterproof NIVIA (Women)	9506		12 %	2 Nos 4 Nos	710.00		1,420.00 4,560.00	
	Personal Weighing Machine Electronic (Digital) Nivia Ball Pump Double Action	9506		12 % 18 %	3 Nos 1 Nos	780.00 1,640.00		2,340.00 1,640.00	
3	Sports Kits Athletic Kit Consisting of Sando Banian & Half Pant Made of Superior Honey Comb Cloth	9506		12 % 5 %	1 Nos 24 Set	236.00 320.00	Distribution of the last	236.00 7,680.00	
10	Sports Kits Kabaddi Kit Consisting of Round Neck T-Shirt & Half Pant Made of Superior Honey Comb Cloth for Boys & Girls	61		5 %	12 Set	370.00	Set	4,440.00	
	Sports Kits Kho-Kho Kit for Boys	61		5 %	12 Set	320.00	Set	3,840.00	
	Sports Kits Kho-Kho Kit for Girls	61		5 %	12 Set	360.00	Set	4,320.00	
2	Sports Kits Volleyball Kit Consisting of T-Shirt & Half Pant Made of Superior Honey Comb Cloth	61		5 %	12 Set	370.00	Set	4,440.00	
							C	ontinued	
						1			
		,	RI	. 31	448				
			-	-					





GONDWANA UNIVERSITY, GADCHIROLI Original Copy

: 18299/1920 Receipt No

Date: Thursday, 12 March, 2020

Received From: 020 - Mahatma Gandhi Arts, Commerce And Late N.P. Science

College, Armori, , Distt. Gaddchiroli.

: Being Amount Received For Blezar Narration

On Account Of	Amount [Rs]
	0.00
1. 0171 (G)(D)(01) College Fee	0.00
2. 0172 (G)(D)(02) Swiffining Talk 1 cc	0.00
3. 0173 (G)(D)(03) Sport Ground Rent	0.00
4. 0174 (G)(D)(04) Student & Bodhchinha Anshdan	4.675.00
5. 0176 (G)(D)(06) Sport Fee (Blazer/Sport Kit & Etc.)	0.00
6. 0177 (G)(D)(07) Sports Entry Fee (Inter Collegiate)	0.00
7. 0178 (G)(D)(08) Spotrs Entry Fee (Late Fee)	
8. 0175A (G)(D)(05)(A) Miscellaneous	0.00
9. 0175B (G)(D)(05)(B) Physical Fitness Testing Fees	0.00
The state of the s	4,675.00
Subject To Relisation Receipt Total	

Rupees (in words): Four Thousand Six Hundred Seventy Five Rupees Only.

Payment Details: CASH

College: 020 -Mahatma Gandhi Arts, Commerce And Late N.P. Science College, Armori, Distt. Gaddchiroli.

Receipt Type: OtherFees

For Assistant Registrar (Accounts),, Gadchiroli

Receiver : Mahesh Lahanui Usendi

Thursday, 12 March, 2020 03:15 pm [AD: 192168025, WASEKARSIR-PC, Mahesh , 2837 Page 1 of 1

Gondwana University Can. Passed for Payment of Rs. 467 RECEIVED CASHID.D.I.....